
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Year 6 Arithmetic 

Test 5 

Name : ____________________ 

Score : _________ out of 40 



 

 

 

  

 

9 x 6 = 

698 x 7 = 

2900005 = ________ + 900000 + 5 



 

 

 

6923 + 1876 = 

9800÷ 2 = 

5

4

2.1 x 100 



 

 

 

 

 

8748 ÷ 9 = 

3

7
 - 

5

14
= 

9876 + 321 + 654 = 



 

 

 

630 ÷ 9 = 

237.4 + 55.19 = 

82 + ____ = 251 



 

 

 

2

3
 + 

1

4
= 

 

0 x 883 = 

8564 - 3712 = 



 

 

 

 

 

 

5 × 3 × 7 = 

400 - 90 = 

1

6
 x 

3

4
= 

 

 



 

 

 

3.818 × 5 = 

9 - 0.068 = 

649 x 82 = 



 

92 = 

90 x 6= 

3
1

2
 - 1

1

2
 = 



 

13 - 
12

40
= 

20 - 4 ÷ 2 = 

3.15 ÷ 100 = 



 

30

8 x 
3

4
 = 

2

7
 ÷  4 = 

87 × 0.5 = 



 

 
2

3
 x 90= 

7389 x 87 = 

2720 ÷ 34 = 



1190 ÷ 14 = 

21% of 1500 = 

4531 x 28 = 


